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(24] {Lambert-Beer ®EH]Y

A= —logT =¢ecl £V,

lem D& & A = 0.0458

2em 751 E A = 0.0458 x2=0.0916 — T =10"2%%16 =g81.0%

S5em 78 61E A = 0.0458 x5=0.229 — T =10"%% = 59.0%

(25] {Lambert-Beer O LAY
0..0194

B TIE 2 BABRA Y 2 LT, I = 1,00 10 mol /L A

1.
= —logT = —1og0.329 = 0.483

Lambert-Beer LR & D A =ecl

o 0.483
"~ 1.00 x 104 x 1.00

2. RKOBZ7TLHH) T LDRER c &9 5,

=483%x10° mol ' -L-cm™!

A=—logT = —log 0.688 = 0.162
Lambert-Beer DEH] & D A=ec (e 1Z CrOy [EA D)

LA 0.162
CT T 183 % 10° x 2.00

=1.68 x 1075 mol/L

(26] {Lambert-Beer ®EH]Y

c—A —logT —log%

=== = =1.00 x 1074 1/L
al zl 100 x 101 x Lop ~ 20010 mol/

— HAEEIT Nod-1/4 —
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(27] {Lambert-Beer ®EH]Y

l — 107A — 107501 — 1071040
Iy

c 00 02 04 06 08 1.0

L1 066 044 029 0.19 0.13
A 0 018 036 054 0.72 0.90

m, ¢ A
1
0.1
0.5
0002 04 06 08 1 12 % 02 04 06 08 1
X 10 "mol/L
(28) {Lambert-Beer M iEH[Y
Lambert-Beer ®ER| & 0
a1 = 0.596 x 10%
ea0 = 0.045 x 104
epp = 0.243 x 10*
epo = 0.862 x 104
A:€A1[A]+€B1[B} ERBEMNS
0.783 = ea1[A] + ep1[B] (1)

0.495 = EAQ[A] + EBQ[B]

783 - epy — 0.495
A] = 278 Emem 04 em gy gt e
€A1EB2 — €A2€B1

783 - £z — 0.495 -
B = 283 ean m 04t g 105 ol
€A2€B1 — €A1EB2

— HAEFEIT Nod-2/4 —
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(29] {Lambert-Beer ®EH]Y

[Ni](x1075) 0.0 0.5 1 1.5 2 2.5

MESH A 00 011 0.222 0.329 0.441 0.548

KA A 0.33 0.343 0.334 0.338 0.337

A

0.7

0.6

0.5

0.4

0.3

0.2

0.1

R

KH A ¥ 033, 79750513 x107° mol/L

2. &2iRE Cpar = [PAR] + 2[Ni(PAR),]

A = epar[PAR] + enipar), [Ni(PAR)]
= epARCPAR + (5Ni(PAR)2 — QEPAR)[Ni(PAR)Q]

05 1 15 2

2.5

ePARCPAR W75 2RBIOIRNE T, I 7 TIRIOENEMEL ST W5,

MREMOMEIE 2.2 x 10'mol ™" - L - em™ = exypar), — 26PAR
2000

ENi(PAR), = 2.6 X 10*mol ™" - L - cm ™!

— HAEEIT Nod - 3/4 —

3
x10™° moliL



(30] {Lambert-Beer ®EH]Y

1.
0.1588 x 0.00705 x 103),,
A ( 550 Jmg = 4.48ppm
((1000)m3 X 1)kg
(0.2131 x 0.00705 x 103),
iy £ = 6.0lppm
1000 < ‘)kg
2.
A
0.5
0.4
0.3
0.262(BC) f-meacharman il :
0.2
0.1

0 h
0 1 2 3 4 SB 7 8 9 10 ppm
5.4

3. BERE 35

(0.1988 x 7 x 10%) g

C: 100 = 5.4ppm
250

(1000)kg 7v3"7ot b

z = 0.679%

4. 777 &0, HEe = 0.294 — 0.215 =2.84 x 10°mol ™' - L - cm ™!
((6.01-4.48)x1073),, g 1 2022 2
54.94 ) mol/kg ) X lom
———

=mol/L(k&E 1)
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